Assignment: A13
Air-Table:Jet forces
New concepts:
e Addinganewforce to the physics engine.
Python language topics:
e Sorry, not much new here. Maybe time foryou to go back and review...
Problem statement:
(Again, start with a new Pythonfile.)

Add contentto the A12 exercise toapply ajetforce (thrust) to the client-controlled puck. Asin A12, control the jet with
the “w” key. Have the thrust force be 1.3 times the force that gravity applies to the controlled puck (1.3*m*g). This will
give enough thrust to overcome gravity whenyou have itturned on. Try driving your jet puck with the weakest mouse-
tetherconnected (the middle mouse button). Try driving with and without gravity on.

Algorithmicdescription:

e Addan attribute to the puck class that represents the jet force on the puck. Initialize this to the (0.0, 0.0)
vector.
e Control thisforce froma methodinthe jetclass. Call this methodinthe game loop AFTER the userhas
oriented the jetand BEFORE the call to the physics-engine methods.
o Whenthejetis on, thejet force should be 1.3*m™*g. The direction of this should be based onthe
pointing vectorthat’s associated with the jet.
e Modifythe physics calculationstoinclude thisjet force.

Python code: (seeimage below)

The following code (image) is notacomplete solutionto the problem. It shows additional content relativeto the A12
assignment. There issome obfuscation, and you have to figure out what additional code is needed to get this running.
The indentlevelsshould be aclue toyou.

# Scaler magnitude of jet force.

self.jet force W = 1.3 *|' ) EE IE " B L] 2"

# Point everything down for =starters.

self.rotate_everything( 130}
def turn jet forces onoff{self, client name):
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# Force on puck is in the opposite direction of the jet tube.

self.puck.jet force 2d N =|. | = ] | m as 1

else:
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